1.6 Circles MATH 161 THOMPSON

Circle form x? + y? = r? with center (0,0) radius r

Circle form (x-h)? + (y-k)? = r?> with center (h,k) radius r

1) State whether the following statement is true or false. 2) State whether the following statement is true or false.

The radius of the circle x° + ],r2 =9is 3. The center of the circle (x + 3]2 +(y - 2}2 =135 (3, -2).

Choose the comrect answer below.
Choose the comrect answer below.

colse Center is (-3,2)
* False

* True
True

3) Choose the equation of a circle with radius & and center (3, - 3).

{ sms }

Choose the correct answer below.

x+372% +(y-237°%=8

¥ x-3% +(y+3°2 =64

(x-h)? + (y-k)? = r?> with center (h,k) radius r

4) Find the center and radius of the circle. Write the Ay
standard form of the equation. 2
X
T T I :
-6 2
The center of the circle is (h.k)= (-2,-3) . / ! .\Ep 0.3
(Type an ordered pair.) \':‘iy ;
The radius of the circle isr= 2 . —

The equation of the circle in standard form is (x+2)° +({y+3)° =4
(Type your answer in standard form.)



5)

Find the center and radius of the circle. Write the standard form of the
equation.

5
center: 4+1=5 then divide by 2 = 5

. 3
radius: 4-1=3 then divide by 2 = >

The center of the circle is | —

'.'

(Tvpe an ordered pair.)

(1 A)@ (4,4)

square radius

The radius of the circle is —

The standard form of the equation is -=| +(y- 4)

Another 5)

Find the center and radius of the circle. Write the standard
form of the equation.

1

=

center: 8 + 3=11 then divide by 2 =

2
. o 5
radius: 8 — 3 = 5 then divide by 2 = 5
11
The center of the circle is [? ] )

(Type an ordered pair.)

)
The radius of the circle is — .

11 2 25
The standard form of the equationis |x-— | +(y-6)"=—

2

h Y

3:62:@[3,53

s



6) A circle has the equation x° + }rz =81 i
(a) Find the center (h,k) and radius r of the circle. 1 | . N
(b) Graph the circle. AR NG
(c) Find the intercepts, if any, of the graph. // g ‘\\
’
y - \
{ 5 \
(T e } - 1
NP R ] 1T
1 1 2 1 11
(a) The center of the circle is (0,0) . C 4 f!
(Type an ordered pair, using integers or decimals.) \\ 5 /
The radius of the circle is 9 . [ :
(Type an integer or a decimal.) -
(b} Use the graphing tool to graph the circle.
(c) What are the intercepts? Select the correct choice below and,
if necessary, fill in the answer box within your choice.
L The intercept(s) isfare (- 9,0),(9,0).(0, - 9),(0,9) . X and y Intercepts
(Type an ordered pair. Use a comma to separate answers as
needed. Type exact answers for each coordinate, using
radicals as needed.)
There are no intercepts.
A circle has the equation 2(x — 4)% + 2y? = 18. Ky
(a) Find the center (h,k) and radius r of the circle. N
(b) Graph the circle. EEEAEEE
(c) Find the intercepts, if any, of the graph.
(@) The center of the circle is (4,0) . Change sign -
2=t
(Type an ordered pair, using integers or decimals.)
) TN “
The radius of the circle is 3 . T T T {—-—0 T >
(Type an integer or a decimal.) ]

Ay

(b) Use the graphing tool to graph the circle.

&=

(c) What are the intercepts? Select the correct choice below and,
if necessary, fill in the answer box within your choice.

4 The intercept(s) is/are (1,0),(7,0) .




8) Drag each of the equations given above into the appropriate area below. Each graph is shown in a [10,10,1] viewing

window Look at the center of each
(a) . @ (B) . @
Q

,,,,,,,,, - O e

N\ U G

[{x—5}2+(y+5}2=25 ] [(x+1)2+w—3}2=9 ]
(© @ (d) @,
Q \_ /i Q
""""" PEE e
[(x—1}2+li}'+3}2=9 ] [(x+5)2+w—5}2=25 ]
9) Write the standard form of the equation of the circle with radius r o
and center (h,k). Then graph the circle.
r=4; (hk)=(0,-4) BEEP EEEENEEE
The standard form of the equation of this circle is j ) _
x2+(y+4)2:16. 49 0
craphthecicie.  PlOt the center then 1-te

. R

&n

10) Write the standard form of the equation of the circle of radius

r=25and center (h.K)=(0,0). Graph the circle. BZan TN
{/
) 2
- \
. L . T *— +*
The standard form of the equation of this circle is £\ -4 | - y I / i

J(2+'y’2=25.

I

lUse the graphing tool to graph a circle with center (0,0) and
a radius of 5.

—

=N




)Sketch the graph of the equation. If the graph is a parabola, find its vertex. If the
graph is a circle, find its center and radius.

W

x+y=3 center(0,0) radius6 |

12) Sketch the graph of the equation. If the graph is a parabola, find its vertex. If the
graph is a circle, find its center and radius.

22 +2y2=72 Divide all terms by 2 first :
Use the graw graph the equation. :

X2 +y? =36

N

center (0,0)

radius 6

2
13) Write an equation of the circle with the center (0,0) and radius 4/ 14 . V 14 = 14

The equation is x2 +y2 =14 . (Type your answer in standard form.)

14) Sketch the graph of the equation. If the graph is
a parabola, find its vertex. If the graph is a circle, find its
center and radius.

&n

X2+ yz =16 ' | , ' InY
A1 15 N
* T T ! T
The graph is a circle with radius 4 . 6 4 = 6
(Simplify your answer. Type an exact answer, using HEA - /

radicals as needed.) ]

The center is located at (0,0) .

(Type an ordered pair.)




15) Sketch the graph of the equation. If the graph is a parabola,
find its vertex. If the graph is a circle, find its center and

radius.
52 +5y°=80 . N
Divide all terms by 2 first PauinNEE
x> +y>=16 /2 \
center (0,0) ¢ -\\ EITIR
radius 4 \\':'__,./' |

The graph is a circle with center (0.0} .

(Type an ordered pair.)
Theradiusis 4 .

(Simplify your answer. Type an exact answer, using
radicals as needed.)

16) A circle s the set of all points in a plane that are the same distance from a fixed point.
The fixed point is called the center.

17) The distance from the center of a circle to any point of the circle is called the radius.

18) Find the equation of the circle having the given center and radius. = Write the equation of the circle.

Center (0,0), radius 9 2.,..2_ PR
XZ + y2 — r-2 x< +y< =81 (Simplify your answer.)

19) Find an equation of the circle having the given center that passes through the given point.
The centeris (0, 0) and the pointis (- 1, 5). radius iS dista nce
Write the equation for the circle. \/( 1) 2 2
— + 54 =+/26

x2 + y2 =26 (Simplify your answer.)

*shortcut: square both and add
(-1)?+ (5)*> =26



